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Mankiw Ch 23-28  (2006/04/13, 9:10-10:50 am)  
I. Multiple Choices (單選題，45 points, with 3 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

Ch 23
1. If a U.S. citizen buys a television made in Korea by a Korean firm,
a. U.S. net exports decrease, and U.S. GDP decreases.
b. U.S. net exports are unaffected, and U.S. GDP decreases.
c. U.S. net exports are unaffected, and U.S. GDP is unaffected.
d. U.S. net exports decrease but U.S. GDP is unaffected.

Ch 24
2. In Japan in 2000 nominal interest rates were 1.5 percent and the inflation rate was -.5 percent. The real interest rate was
a. -2 percent.
b. -1 percent.
c. 1 percent.
d. 2 percent.
Ch 25
3. Human capital is the
a. knowledge and skills that workers acquire through education, training, and experience.
b. stock of equipment and structures that is used to produce goods and services.
c. total number of hours worked in an economy.
d. same thing as technological knowledge.

Ch 25

4. If your firm has constant returns to scale, then if you doubled all your inputs your firm's output would
a. not change.
b. increase, but by less than double.
c. double.
d. more than double.

Ch 23

5. Suppose that over the last twenty-five years a country's nominal GDP grew to three times its former size. In the meantime population grew 50 percent and prices rose 100 percent. What happened to real GDP per person?
a. It more than doubled.
b. It rose, but less than doubled.
c. It was unchanged.
d. It fell.

Ch 25

6. One of the Ten Principles of Economics in Chapter 1 is that people face tradeoffs. The growth that arises from capital accumulation is not a free lunch: It requires that society
a. conserve resources for future generations.
b. sacrifice consumption goods and services now in order to enjoy more consumption in the future.
c. recycle resources so that future generations can produce goods and services with the accumulated capital.
d. None of the above are correct.

Ch 26

7. If there is shortage of loanable funds, then
a. the supply for loanable funds shifts right and the demand shifts left.
b. the supply for loanable funds shifts left and the demand shifts right.
c. neither curve shifts, but the quantity of loanable funds supplied increases and the quantity demanded decreases as the interest rate rises to equilibrium.
d. neither curve shifts, but the quantity of loanable funds supplied decreases and the quantity demanded increases as the interest rate falls to equilibrium.

Ch 25

8. Other things the same, if a country increased its saving rate, in 40 years they would likely have
a. higher productivity, and a higher growth rate of real GDP.
b. higher productivity, but not a higher growth rate of real GDP.
c. the same productivity and growth of real GDP they began with.
d. None of the above are correct.

Ch 27

9. If a person is risk averse, then as wealth increases, total utility of wealth
a. increases at an increasing rate
b. increases at a decreasing rate
c. decreases at an increasing rate
d. decreases at a decreasing rate

Ch 27

10. Amanda talks with several different brokers at a social gathering. She hears the following advice from brokers A, B, and C. Which broker, if any, gave her incorrect advice?
a. There are risks in holding stocks, even in a highly diversified portfolio.
b. Portfolios with smaller standard deviations have greater risk.
c. Stocks with greater risks offer greater average returns.
d. They all gave her correct advice.

Ch 28

11. If an unemployed person quits looking for work, ceteris paribus, the unemployment rate
a. decreases, and the participation rate increases
b. decreases, and the participation rate decreases
c. stays the same, and the participation rate decreases
d. and the labor force participation rate stay the same.
Ch 27

12. The theory of efficiency wages explains why
a. setting wages at the equilibrium level may increase unemployment.
b. it may be in the best interest of firms to offer wages that are above the equilibrium level.
c. the most efficient way to pay workers is to pay them according to their skills.
d. it is efficient for firms to set wages at the equilibrium level.

Ch 28

13. Which of the following causes of unemployment is not associated with a wage rate above the equilibrium level?
a. unions
b. efficiency wages
c. job search
d. minimum-wage laws

Ch 28

14. Most spells of unemployment are
a. long, and most unemployment observed at any given time is long term.
b. long, but most unemployment observed at any given time is short term.
c. short, but most unemployment observed at any given time is long term.
d. short, and most unemployment observed at any given time is short term.

Ch 23
15. Flour is
a. always counted as an intermediate good.
b. counted as an intermediate good if it is used by a company to make bread.
c. counted as a final good if it is used by a consumer who bakes bread for his own consumption.
d. Both b and c are correct.
II. Essay Questions計算題與申論題 (總分：55 分)
答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。
分析題請說明、並依題目要求做圖。)
Ch 23
1. Suppose GDP consists of wheat and rice. In 2002, 20 bushels of wheat are sold at $4 per bushel, and 10 bushels of rice are sold at $2 per bushel. If the price of wheat was $2 per bushel and the price of rice was $1 per bushel in 2001, the base year, 
（1）nominal 2002 GDP is _____________. （2 %）
（2）real 2002 GDP is _____________. （3 %）
（3）the 2002 GDP deflator is _____________. （3 %）
Ch 24

2. Use the table below to answer the following questions.

	Year
	price of pork
	price of corn

	2003
	$20 
	 $20

	2004
	$20 
	 $30


Suppose that the basket of goods in the CPI consisted of 3 units of pork and 2 units of corn. 
（1）What is the consumer price index for 2004 if the base year is 2003? ___________.（3 %）
（2）What is the 2004 inflation rate? _____________. （2 %）
Ch 24
3. Ethel purchased a bag of groceries in 1970 for $8. She purchased the same bag of groceries in 2003 for $25. If the price index was 38.8 and is 180 in 2003, what's the price of a 1970 bag of groceries in 2003 prices? （5 %）
Ch 27
4. A firm has three different investment options. Option A will give the firm $10 million at the end of one year, $10 million at the end of two years, and $10 million at the end of three years. Option B will give the firm $15 million at the end of one year, $10 million at the end of two years, and $5 million at the end of three years. Option C will give the firm $30 million at the end of one year, and nothing thereafter.  The real interest rate is 5%.  Please calculate the present value of each option respectively.（9 %） Which of these options has the highest present value? （1 %）
Ch 28

5. Use the graph below to answer the following questions.
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(1) If the minimum wage is $5, the number of people unemployed is ____________. （3 %）
(2) If the minimum wage is $7, the number of people unemployed is ____________. （3 %）
Ch 26

6. Suppose GDP is 20, consumption is 12, government spending is 3, net export is 3, and the government runs a budget surplus of 2. 

(1) The private saving is ___________. （3 %）

(2) The national saving is __________.（3 %）

(3) The investment is __________.（3 %）

Ch 26
7. Suppose the government borrows $20 billion more next year than this year.
(1) Use a supply-and-demand diagram to analyze this policy. 
Does the interest rate rise or fall? What happens to investment? 
To private saving? To public saving? To national saving? （8 %）
(2) Suppose households believe that greater government borrowing today implies higher taxes to pay off the government debt in the future. What does this belief do to private saving and the supply of loanable funds today? Does it increase or decrease the effects you discussed in part (1)? （4 %）
